Economics 102 Name AN N Uﬂ/—fr@ k E\’ﬁ/
Summer 2017 ﬂ

First Midterm with Answers
Date Thursday, June 8, 2017

This exam consists of three parts: I) five binary choice questions worth 2 points each; II)
twenty multiple choice questions worth 3 points each; and III) three short answer
problems worth 30 points total. All answers should be clearly and legibly recorded on
the exam booklet: any answer that is not legible will be counted as a wrong answer. All
answers should be presented in a neat, logical fashion in the short answer portion of the
exam.

Honor Code Statement:

L , understand that it is important for me to do my own
work. 1t is also important that I not provide help, either intentionally or unintentionally, to
my fellow students. Therefore I will keep my answers covered and I will not provide
answers to my classmates or take answers from my classmates. I also acknowledge that
on this exam I may not have access to a calculator or a cellphone.

(Signed)

L Binary Choice Questions (out of a possible 10 points)
11 Multiple Choice Points (out of a possible 60 points)
I1I. Problems

1. Problem 1 (out of a possible 10 points)

2. Problem 2 (out of a possible 10 points)

3. Problem 3 (out of a possible 10 points)

TOTAL (out of a possible 100 points)




L Binary Choice Questions: (5 Questions worth 2 points each)

peseriyfie,” 1. Inrecent years there has been discussion about the accuracy of U-3 and U-6 as
defini Himed = measures of unemployment in the U.S. Complete the following statement: "During the
Shaiht ﬁ,a.w recent financial crisis, 4~ 3 understated the level of unemployment in the economy
and a more accurate statement about the severity of the labor market situation was
rovided by U -6 .
U-3; U-6
b. U-6; U-3

NOT HArD ff 2. C9nsider the market for gadgets that is initially in equilibrium. Suppose that the
‘v President places an executive order that reduces the number of immigrants, and therefore
)/ W T consumers, in the economy. At the same time, this executive order reduces the number of
e people available to work in the economy at every wage rate. Given this information, the
(R A rH equilibrium price in the market for gadgets will _~ _ and the equilibrium quantity in the
market for gadgets will !/4 relative to the initial equilibrium in this market.
a. increase; be indeterminate

@be indeterminate; decrease ( s Wé ﬁv Mdjfﬁ})

NOT HA /2. p: 3. Suppose that a small, open economy decides to close its market for bananas to trade

and that its closed domestic price for bananas is greater than the world price for bananas.
}’M w Given this information, domestic production of bananas T relative to the initial level
/}ndgl ! of domestic production.
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fd/ﬂé“ WK : 4. Amy's company produces 500 widgets in 2015 and sells 400 of these widgets for $20
A0 FHARD each. In 2016 Amy's company produces 700 widgets and sells 800 widgets for $20 each.
The impact of these transactions on GDP in 2015 is , consumption spending in
2016 is , and the impact on investment spending in 2016 is
a. $8,006<,d$16,00 ; $2000 -
@$10,oo . $16,000; -$2000 v (s du?r/f/x/dw)

Some toGy ¢ 5. Use the following graph to answer this question. The graph shows a joint PPF for
¢ A /g ' TOF Sarah and Robert who both produce apples and oranges.
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Suppose you are told that Robert's opportunity cost of producing an apple is 7 oranges.

Given this information, what is the equation for Sarah's PPF in X-intercept form?
Oranges = 20 - 2(Apples) i

b.)Oranges = 10 - (1/2)(Apples) ( 3ee 4 )
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II. Multiple Choice Questions: (20 Questions worth 3 points each)

Use the following information to answer the next three questions.

The graph below illustrates the PPF for Arcadia, a small economy that produces teapots
and mugs. Between each designated point in this graph assume that the PPF for Arcadia
is linear: for example, between points A and B in this graph the PPF is linear, between

points B and C in this graph the PPF is linear but may have a different slope than the
slope between points A and B, etc.

Teapots per Year .
Arcadia's PPF
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NoT HA)) 6. 1f Arcadia is currently producing 86 mugs a year, what is the maximufn amount of

teapots that Arcadia can produce given its mug production? Suppose Arcadia decides to
increase its mug production to 90 mugs a year. Given this decision, what is the

opportunity (.:Qst of this %}crease in mug production?
42 teap0t§'y12 teapots

b. 42 teapots; 30 teapotsx [f-—& a nt-@%]
c. 4.67 teapots; 12 teapots

d. 4.67 teapots; 30 teapots

SOME worR/K 7. Given Arcadia's PPF which of the following points (mugs, teapots) is not feasible for

Arcadia? _

5(493120) Sha Arcadds can prochece (59,/20) /¥ Can 4/;,,/,.,,”(,,“ C44,/120)
b)(82, 56)

c.(25,135) sMee 2€ 4 Aelfway Petween O ¥ SV, TRen 7 Value mast Joc Kafforasy
d. (95, 15) 120 T of 150 7 = o T = 1285 2 Jhes porh?

(S /138)is m PPF & T =158- 25 M and [EM=2S
=3 /72 Js0 ~ (35 X38) = /35 /C

? o Ao e bnow T2 Joo-3M ' €2Aua.7’b~jw7/u\fkjmmf
of jomt PPF - o F M =75 2
ST 700 ~ 2(7S) R
Tz %00 - M§ =5 D (T5/5) o on jom?

4



JNokE 8. Suppose only three people live in Arcadia: Joe, Ben, and Sue. You also know that the
WK o opportunity cost of producing mugs for Ben is greater than Joe's opportunity cost for
A Lo 7o/  producing mugs. And, you are told that Sue has the comparative advantage over both Joe
19GIC and Ben in producing teapots. Given this information and holding everything else
constant, which of the following statements is true?
T 1 Ifthis economy produces 70 mugs and 80 teapots, then Sue will produce 60
teapots',/J oe will produce 50 mugs, and Ben will produce 20 teapots and 20 mugs.
’r' II. The equation for Sue's PPF is: T = 60 - 3M. (Where M is mugs and T is
teapots.)
F’ III. The equation for Joe's PPF is: T = 60 - 2M
T IV. The maximum number of teapots Ben can produce is 60.
a. Statements I, II, III and IV are all true statements.
b. Statements 1 is a true statement.
c. Statements I, 11, and III are true statements.
@tatements I, II and IV are true statements.
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Use the following information to answer the next three questions.
Below you are provided the three linear PPFs for Oscar, Jay and Charlie who produce

chew toys and dog treats.

# 2— Oscar's PPF ,H" Jay's PPF ﬁ”; Charlie's PPF
Chew Toys Chew Toys Chew Toys
8
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NoT HARD 9. &1\?&1 the above PPFs, wh1cl€/6ﬁﬁe f/ fo |r‘;‘N];ng stftt ments s fa se? l’

a. If only one person is going to produce chew toys, then Jay s e that person. T'

b. If twelve dog treats are produced. they should be produced by Oscar and Charlie. T )
@The second person to specialize in producing chew toys should be Charlie. F:sewmd frraRie Oscar

d. Oscar has a comparative advantage over Jay in producing dog treats. T

10. Here are four possible graphs of the joint PPF for these three individuals. Which is
the accurate graph? Note: none of these graphs are drawn to scale, but all labeled kink
points are provided to you. /
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SsmewelK. 11, Given the PPFs, we can conclude that the trading range of 2 chew toys will be: Lo dAT
/ﬂEOICTM‘-G a. any price greater thattor equal to 4 dog treats if Charlie is buying chew toys. X (s n‘l“v"uf“‘-ﬂ /|

e b. any price greater than or equal to 2 dog treats if Jay is selling chew toys. X erestedhan o I DT
Thovet ¢, any price less than or equal to 4 dog treats if Oscar if he is buying chew toys. ¥ less Thann A2HT |

@ any price less than or equal to 2 dog treats for Oscar if he is buying chew toys. Tae
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12. In 2010 Economist Sarah and Economist Allen are having a discussion about the
correct economic policy to pursue given the economic issues their economy is currently
facing. Sarah is utilizing a long run model of the economy and this model holds as a key
assumption that the economy will produce at the full employment level of output. Allen
is using a short-run model of the economy and this model holds that in the short-run it is
possible for an economy to be either in a recession where output is below the full

we §/10n - employment level of output or overheated (in an expansion) where output is above the
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full employment level of output. Given their models, Sarah advocates for an austerity
program in order to make sure that inflationary tendencies in the economy are tamped
down while Allen advocates a government stimulus to get discouraged workers back into
the labor force and back to work. They clearly disagree! Their argument is based upon
economics since over time they will be able to collect data and see whether
countries that pursued austerity fared better than countries that pursued stimulus during

;hlz frerlnrt;;%fr economic period of time. \) s Craipl dlat T /uzﬁ )
- @ojf%w/)dff gm(aﬁrm/«.?ffy =>

b/ positive g
c. factual fafr 7l
d. abstract

13. Consider the market for tobacco products that is initially in equilibrium. Suppose that
health studies report that tobacco smoking is not good for you at the same time that
people's incomes fall. Assume that tobacco products are an inferior good. Given this
information, relative to the initial equilibrium price and quantity, the equilibrium price
will and the equilibrium quantity will ’

(a) be indeterminate; be indeterminate

b. be indeterminate; increase
¢. increase; be indeterminate
d. be indeterminate; decrease
c¢. decrease; be indeterminate
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Use the information below to answer the next twe questions.

Green Corporation is a gadget production company that produces gadgets. In producing

gadgets, Greenland uses iron produced by Ironworks Inc. and rubber produced by / ho ”"j
Bouncy Products. Both Ironworks Inc. and Bouncy Products sell all of their product to
Greenland. The following table summarizes the transactions that go into the production
of gadgets, iron and rubber during the year 201-?;'
Ironworks Inc. Bouncy Products Greenland Corporation 72_&:’
Wages $200 $800 $400 /q00
Rent $400 $200 $100 #oo
Interest $100 $100 $100 sdo
Hintermediat $0 $0 $3000
C ws—fz\ S
Total Revenues / $1000 $2000 (¢ $6,000 /
w‘”\ﬂw. -
NOT HA7Zp  14. Given the above information, what is the contribution to GDP from thisAransaction hJ
for the year 20122 fwv(
a. $9000

$ .
(Sran ity

d. $3000 ?}u(

foT HA2D 15, Given the above information, what is the value of profits earned by Greenland?
a./$3600

b. $3000
c. $1500
d. $1000

14, GhP volus. added agoromin’
Upp = Viby Iromumles Gne 4 VA by Souncy Pordus # VA ?w/way/a_

e (/000—-0) + C.Qoaa-—a) +~ (6000-—?000)

= [60u & 2000 + P000 = ¢ 000

Totl Covinas = ) protut) (A 9 Particet)

[1$. 6DP= 6000
GNP = Wé,ngL Ml est + Pent + /_9!%7477
LDP = /900 4 200 4 ';z;o,a/mﬁb
booo = P09 PmfL
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f’ k’g)/c TAﬁLE 16. Suppose there are five identical firms in the widget market and each firm's supply
A fd'ﬁ’“{ curve can be given by the following equation where P is the price per widget and Q is the
5 32;1 - quantity of widgets:
tady Individual Supply Curve: P =2 + (1/2)Q
ere £77%  Given this information, what is the equation for the market supply curve?
Kihlc a. P =10+ (5/2)Q
b.P=2+(5/2)Q

c.P=2+10Q
(P =2+(1/10)Q (5‘2 ok /"jm“’)

IQKE@/CWE 17. Suppose there are six consumers in the market for flashlights that have identical
/@/W/ demand curves. Each consumer's demand curve is given by the following equation where
7 P is the price per flashlight and Q is the quantity of flashlights:

£45y Individual Demand Curve: P =15 - 3Q
Srhee Given this information, what is the market demand curve equation?
s Q=30-2P
fedh B.P=15-2Q bl
o c.Q=30-(1/2)P (;ee = J

d.P=75-3Q




Jored gcon

S Tsr s

., 3060 = %P

=1 C?ay =7
160 > £

Consider the market for bicycles in Millarville, a small closed economy. Currently the
domestic demand and supply curves for bicycles are given by the followir‘ltg equations

Use the following information to answer the next three questions.

where Q is the quantity of bicycles and P is the price of bicycles: 500 1
Domestic Demand: Q =250 — (1/2)P -
Domestic Supply: Q = (1/4)P — 50 b Y
The current world price for bicycles is $280. 25 : oo
T boo-
Som £ 18. Given the above information which of the following statements is true? b
Worr/ @ Domestic consumers are in favor of opening this market to trade while domestic %

producers are against opening this market to trade. 7 Smee Purrrld & Frfogedd
b. If this market opens to trade domestirc_ consumer surplus will be smallét than it was a
when the market was closed to trade. /— \2 Jir |
c. If this market opens to trade this country will import 30 bicycles[: Wf = 2—%' = CQa)fm =20 40 ;
LA )/ . d. If this market opens to trade there will be a deadweight loss. /= Beow = 170 impo3
Nol muct 19. Suppose this market opens to trade while at the same time Millarville implements an
WK import quota of 30 bicycles. Given this information and holding everything else constant,
RE Qur RED which of the following statements is true?
HERE | £ a. This policy will result in a reduction of the area of domestic producer surplus relative
to the area of domestic producer surplus if trade is allowed and there is no import quota.
)/00{ . b. This policy will help domestic consumers of bieyeks relative to the outcome if the
UN DERS TAND market simply opened to trade. F '
/M Rrr (c)This policy will help domestic producers of biegeles relative to the outcome if the
Aduo 7 AL  market simply opened to trade. T
d. This policy will result in an increase in the area of domestic consumer surplus relative
to the area of domestic consumer surplus if trade is allowed and there is no import quota.

SemE 20. Given the import quota described in the last question, the area of deadweight loss due
WK to using the less efficient, domestic producers rather than the more efficient, foreign
producers is equal to
a. $1600
(bl $800
c. $2400
d. $4800
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Use the following information to answer the next twe questions:

Smithville has a population of 30,000 people. Of those 30,000 people there are 5,000
children and teenagers who are less than sixteen years old; everyone else in this economy
is at least 16 years old. There are also 1000 homemakers who are satisfied with being at
home and are not actively seeking employment outside the home. There are 2000 full-
time students (aged 18 or older) enrolled in college. There are 2000 people who are
working part-time and are satisfied with this arrangement. There are an additional 1000
people who are working part-time, but who wish to be working full-time but have been
unable to find a full-time job. There are 9000 people who are working full-time. 4000
people are currently not working, are available to work, and are applying to jobs every
week. Of the adult population there are 1000 people who are currently in institutions.
Finally in Smithville there are 3000 people who are retired and collecting their old age
pensions and another 2000 people who are currently not working, are available to work,
but who have given up the hunt for a job because they doubt they will be able to find

work.

a.)25%
b. 20%

20. Given the above information, the unemployment rate in Smithville is approximately

(See # s elos)

U= Yooo

£ © Adooor loogt+ 000 =/2,000

c. 33%
HARD d. 30% U retc = [—‘:{——] (los%) = 4000 (100%)= A5 7e
UFrE /6,006
STRAIGHT  21. Suppose that Smithville decides to include discouraged workers as unemployed
o workers when calculating the unemployment rate. If Smithville makes this change, the
CoruRE unemployment rate given the above information will since both the numerator and
LEer the denominator of the ratio will increase by the same amount.
24 a. not be impacted by this change
ﬁEWEW y @increase U ’hﬂ:&— =[ U + D 160 7s
J eI/ c. decrease EslS
d. increase, decrease or stay the same Ut t J Jecos
% R v
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Additional Workspace for Exam:
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22. Some communities have recently installed "traffic light cameras" that allow law

enforcement officials to capture images of cars going through red lights. When caught

going through a red light the owner of the vehicle is sent a $50 bill for the traffic

violation. A budding economist hearing about this program reasons that:

a. this is a bad idea because it is just one more example of government intervention in our

lives. X [5 govd mbewventrin alueys o hadil ea”

b/this is an attempt to create a market for this type of traffic violations and that the price

may need to be adjusted so that we get the socially optimal amount of traffic light

violations. o ;

c. that running red lights creates a social cost and government is only trying t@ detreant

this social cost by imposing these fines. X

d. that this is a terrible idea since these cameras are expensive and may be prone to errof\ Valie
Jud o et

23. Marley is studying Calculus this summer and is spending time today analyzing his

Wp kK grades. He knows that he has four quizzes in the class and each quiz is worth 2.5% of his
AWD final grade on a 100 point scale (assume that this is the scale used to calculate his grade).
@ £ icA UN& / He also knows that he has five homeworks and each homework is worth 2% of his grade.
There are also two midterms each worth 25% of his final grade; and a final exam worth
the remaining 30%. Here are his scores and the available points per assignment thus far:
Qu}z#l 10 outofIOpf)lnts (orkeSty 3. 2
Quiz #2 8 out of 10 points "
Quiz #3 5 out of 10 points (that was a hard quiz!) X7/ 3/ 10 _ ;
Quiz #4 8 out of 10 points ve - 7192
Homework #1 8 out of 10 points >
Homework #2 10outof 10 points { §+# /ot 6+ 6+ _ 35 W 3840 Few
Homework #3 6 out of 10 points & T8 - 50
Homework #4 6 out of 10 points
Homework #5 5 out of 10 points X B9 TOD_ o i it
Midterm 1 60 out of 75 points =7 0 o= 7100 % < ’;E) e
Midterm 2 40 out of 50 points => YY/s0= V1w => Y ©
Final ? out of 100 points
Marley estimates that he needs 80 out of 100 points from all assignments to get a B. What
score will Marley need to make on the final exam? Note: you are going to need to rescale
these numbers! Marley's final exam score needs to be at least: ¥4 9);1; -
a. above an 80. 5" ; AL
b. above a 92. 3;1 i?%;g 5 1K
c. above an 88. —
d)above an 84.
= $0
10¢ + 1+ 80(as5)+ 80CH) 4 A "
d = g0
o L>— V/Y“’ J4.325+ 20+ 20t 'ff £o
(77] < -
Vedss 4 VW‘OJ Z{uﬁ?d 54.754 f
41/61‘4( J) §howeuntas et ﬂc‘inJ ’ r;j(\ - S0 -5+
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Jus 7 Som& 24.1n2013 a tennis racquet cost $200. If there is deflation of 4% in 2014 (that is, prices
CALLU A7Toxs Tall by 4%) and there is deflation of 2% in 2015, what will be the price of a tennis racquet

Some

at the end of this time frame? (Round to the nearest cent.)
a. $188.00
b. $212.00
c. $212.16
(d/$188.16

25. Consider the market for bicyles in a metropolitan area. The demand and supply curve

WORK 1F for bicycles are given by the following equations where P is the price per bicycle and Q 1s

the quantity of bicycles:

)/07«{ Do THE Demand Curve: P =500 - (8/5)Q

/h/ﬁtyﬁ

r= Supply Curve: P =100 + (2/5)Q

BuT )/ou Suppose that a new firm enters this market for bicycles. You are told the impact of this

douc?

/?'A(I

new service is to increase the number of available bicycles by 0 bicycles when the price

W il is $100 and by 100 bicycles at the initial equilibrium price (before the entry of this new

firm). You are also told that the new supply curve that includes this new service is linear.

Ja s Given this information: —
TH w/CINE— a. this new service will lead to @zgem consumer surplus relative to its initial level

f},gw/

in this market. D Ah hertens
b. The bicycle firms in this metropolitan region will welcome this additional supply since

/m/ 4 it will help the community provide more bicycles at an appealing price.N/e = FL ¢ weon a—/""“{? e
f c. Bicyclists in the community will welcome this additional supply since it will increase ,) m,.,_( =
(4 /2‘/_ A7) the number of bicycles available without changing the price of bicycles. A/s P 772

SHIF N The entry of this firm will be beneficial to consumers of the bicycles since they will get

SW'FL)/ more bicycles, greater consumer surplus, and lower prices. 7r e * 325t Anfwer-
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Part II1: Short Answer Problems (three worth a total of 30 points)

1. (Worth a total of 10 points) Suppose Marty and Palmer each have 60 hours a week that
they can devote to producing watches and/or bracelets. Suppose that you know that Marty
and Palmer both have linear production possibility frontiers (PPFs) and that they can
produce fractional amounts of both goods. Marty can produce a watch in 3 hours and a
bracelet in 4 hours. Palmer takes 5 hours to produce a watch and 2 hours to produce a
bracelet. (Hint: measure watches on the vertical axis and bracelets on the horizontal axis.)

a. (1 point) Given the above information, who has the comparative advantage in the
production of bracelets? L a/mer

(secanatyec ey

b. (1 point) Given the above information, who has the comparative advantage in the
production of watches? _ /¥]enty

( see analy(/J vy

c. (1 point) Given the above information, who has the absolute advantage in the
production of bracelets?  fa/mer

(Wa_,,a_(?ﬂ; AGZJMJ

d. (1 point) Given the above information, who has the absolute advantage in the
production of watches? /a1y

[ Lee an%&ée/m)

@ Ll B W

g -4
20 s 3 =
NarTo “PPF
L =Y
Is A

ocq) 1Bs Vv W
0C 9 1w /98
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e. ( 2 points) Fill in the missing values as well as units of measurement in the table below.

Marty Palmer
Opportunity Cost of B
Producing 2 Watches [.§ bfﬂa_fcl(( S bracelehs
Opportunity Cost of /b
Producing 4 Bracelets A Walches 8/f waliher

f. (2 points) In the space below draw a graph that represents Marty and Palmer's joint PPF
for the week given the information you have been provided. Make sure your graph is
completely and clearly labeled. Measure Watches (W) on the vertical axis and Bracelets
(B) on the horizontal axis. Identify the coordinates of any kink points in your graph.

Wacfchoo W /)

32 1

IUJ\G!‘PPF

26 =

N
JEEE T ==y ﬁ' 5
30 S,_ ‘ng{c 5

g. (2 points) Provide a number line like the one in class to depict the range of trading
prices for 10 bracelets in terms of watches. Provide arrows and labeling to indicate
Palmer's perspective as well as Marty's perspective. Make sure you label the units of
measurement on the trading range price you provide.

_ é
(0 (/@mu’“t) =10 Pracelb A ,dccg/;ﬁ /e

, M&V—E[ butp\q Z)h(az/(/j /21/1/2 ﬁ[ﬁﬂﬂ}y/dr/&e.f
e I J )\___}

A
" (%) o(w)
¢W t95 W
, Valmer fell vy bvacelc

L
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2. (Worth a total of 10 points) Suppose the small, closed economy of Piedmont's market 2%00 ¢
for notebooks can be described by the following domestic demand and domestic supply —— ~

equations where P is the price of a notebook and Q is the number of notebooks: 7 £¢ oo
Domestic Demand: Q = 200 — (1/4)P P= $00-40 #
Domestic Supply: Q =P —200 (= &+ >00

a. (1 point) If this market is closed to trade, what will be the value of consumer surplus

0. (CS) and producer surplus in this Iiarket? Show your work. Cs=A2 $00
4 1 ) Soom- 200~ gf = F- 200 P
¢ doo=24F | fo-#7200
- . = - L - 330) |
ELa - (4o0) = B30 (= g (&0 (7>0)
)‘ / - 3{5;—0,9.00 = /30 2 L (45/0)(/1.0) 5@.‘10)(/—10)
== ? & / of120) = 60(/30)
[ie 20U Ar:4 (34020 ey

TStioped © CSetoged * F‘rc/o;d

b. (2 points) Suppose that you are told that the world price of a notebook is $400. If
Piedmont opens this market to trade, what will be the change in total surplus relative to

this market being closed to trade? Show your work.
[[Am7s= #4000 |

= A& bvor ?—2-00':'[??6/000

 f =400 =D Dbon = FO0-200 = 200

: Doz 200 F(¥N) /0
So0 SO (OB 200 F(FO) P
= % - 400) §00) = 200C1ca) = 29
PR ‘/ P Cput = ;Cc oot B ae) = 00
(( Do ng‘f'f@ﬂ = # 70,000 i # .
{ . ) ’ »
” lUi q,'v-u 200 Af}j 7§JCMF)1(AA70 mlet = / ag ¥

c. (1 point) Suppose that you are told that the world price of a notebook is $280. If
Piedmont opens this market to trade, what will happen to consumer surplus relative to
consumer surplus when this market was closed to trade? Be specific in your answer (that
is, provide a numeric value) and show how you found your answer.

CI¢ ppped = B 2E E0O0 Mma:#goaa\
ESgpen i Pou =280
[ f P = 380 = A Ps = H00 - % (250) =/30 262
&%w: AL&§0-200 = ¥ ?:-8—/;—:0:"
i o (%) (130) boto
. = —’-,L(Q'}O)(/B'OJ _}_E ¢ oo
7 Pt & = (2¢0) (130) 5000
« \
L - K33 §00 ) "
Y \ b _ 2% §0a = ¥ 5 0|
S';) 130 ) C Sopen-Clcpsed = 33/800 R

Aoy e



d. (2 points) Suppose the world price of a notebook is $280. If Piedmont opens the
market to trade and at the same time implements an import quota of 30 notebooks, what
will be the value of license holder revenue? Show your work.

@,:Mf wnt @;ﬂ;fl‘ 3 f? fia»\. r/-fm;chofévﬂwﬂaﬁ V- £477 f
-200 + Q: &= 0~ =

> 3 = 300—%;'(&96)—‘300-7%/ ;
£ P < 320 G)om,'f'da’ 296 b Lg;
el cbw Lisense Foldor v = @%-M{é (Gogwts)
016 9L /O wppz,,“ﬁ é,mk,@é/&,feu = 6 (3’0) =PFya
200 1 i 1t Do oe
o 76 1B\ 2
g

‘ 0
e. (2 points) Suppose that the import quota described in (d) has been implemented. What
is the value of the deadweight loss experienced by consumers who no longer are
consuming their optimal amount of the good? Show your work.

(D dwi In abore 6‘“’-{"‘ D w./_//u CMS,;;::;”I |
yager
pwL, = 5 (296 -2¢0)(130-26) Z;bnf:/fwf o/ good = 732

~ @(q) = H#32.

f. (2 points) Suppose that the import quota described in (d) has been implemented. What
is the value of the deadweight loss due to using less efficient domestic producers to
produce more of the notebooks that are consumed in Piedmont? Show your work.

Dl duc frasngless

@ P e TLFL C}%?x‘m/ Hdometlr2
Dwi, = 4 (r96-280)(76-§) preduser %,,,;f
= £ ¢e)U6) ot 7 J;
= #1g |

Cheape-[reigh.
= C%’)C/c) /_ﬂﬁ"ﬁ‘_aﬁ——’—“
-4ny |
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3. (Worth a total of 10 points) Suppose you are given the following information about
production in Jamestown where only watches and bracelets are produced:

Price in 2013 | Quantity in 2013 | Price in 2014 Quantity in
2014
Watches | $2 40 watches $4 per watch 60 watches
Bracelets | $3 50 bracelets $4 per bracelet A= 60 pvice ‘{S‘

You are also provided the following information about Jamestown:

Year | Nominal GDP | Real GDP with Base Year 2013 | GDP deflator
2013 [B=%x30 [C=£230¢ E= /00
2014 | $480 D= 73o0 160

Use this provided information to calculate the missing values for A, B, C, D, and E.
Explain your work and clearly show how you found your answers. THERE WILL BE
NO CREDIT GIVEN FOR ANY NUMERIC ANSWER PROVIDED WITHOUT
SUPPORTING EXPLANATION. Record your final answers in the following blanks, but
show your work below this recording place.

(2 points): A = b0 hracelel s
(2 points): B=_ #A30
(2 points): C=_ #2 30

(2 points): D=__ ¥ 300
(2 points): E = /02

A
B Nom GOPseyy ° (2140)7({3)69) ¢0r /S0 =270
NMGDP)@,S = /M Gﬂpﬂ@/? f ﬂ/ o 20/3
E - G/Dﬂéaf/a)’w 20/ 3= Nén 6D 2e0r 3 [f&zﬁoﬁcﬁv]

peal 6D PP 2o
¢ _-'}__%0_ (/60 )
2 7o
D. 60/d27£/a‘0‘w 20/ = /LamGDﬂLoi_‘( (gcag,/écﬁv
real GOP2osy
ied & 540 ¢ 429 )

real Coruy = HEBC1T) = 7O

o/ Y
A 3 CDP 3oy /9:/ bw? o4 le -

4o = 4(60);*& —60 forace Je T

AY0 =4 A
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